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Hits from the meritTuple
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Some stats from the meritTuple
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Hits from the meritTuple
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Some stats from the meritTuple
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TkrKalTheta/Energy
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Some Notes

o Hits
— hits in the top of the chamber are about right
— more hits in the bottom in the data than in MC
-> We’re under-estimating the backsplash
« Recon
— Data and MC in reasonable agreement (No cuts...)
— Does MC have dead strips?

— Some odd features to look into:
 TkrNKalEne looks very strange!

 Why is TkrNKalThetaMS narrower for the data than for the
MC?
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